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Roll No. ....................................

MAEC-12 (M. A. Economics)

First Year, Examination-2015

MAEC-104

Quantitative Methods

(ifjek.kkRed fof/;ka)
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k rFkk
x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa ds
vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners are
required to answer any two (02) questions only.

(2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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1. Discuss the need and importance of Diagramatic presentation

of Data in Statistics.

lkaf[;dh esa fp=kksa }kjk leadksa ds izn'kZu dh vko';drk ,oa

egRo dks Li"V dhft,A

2. Evaluate the Karl Pearson's coefficient of correlation by the
following data :

X : 23 27 28 28 29 30 31 33 35 36

Y : 18 20 22 27 21 29 27 29 28 29

fuEu vk¡dM+ksa ds }kjk dkyZ fi;lZu dk lglEcU/ xq.kkad Kkr
dhft,%

X : 23 27 28 28 29 30 31 33 35 36

Y : 18 20 22 27 21 29 27 29 28 29

3. Explain different components of Time-series. How we will

decompose them ?

dkyJs.kh ds fofHkUu vo;oksa dks le>kb;sA bu vo;oksa dks ge
dSls vyx&vyx djsaxs\

4. Solve the following simultaneous linear equations by cramer's
Rule.

x – 3y + 7z – 2 = 0

3x + 2y – 7z – 4 = 0

5x + 2y – 3z – 5 = 0

fuEu lehdj.k dks Øsej fof/ ls gy dhft, &

x – 3y + 7z – 2 = 0

3x + 2y – 7z – 4 = 0

5x + 2y – 3z – 5 = 0
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Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa
ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSa A

1. Discuss the various kinds of sampling.

izfrp;u ds fofHkUu izdkjksa dh foospuk dhft,A

2. Explain Hawkins-Simon conditions.

gkWfdUl&lkbeu 'krks± dks le>kb,A

3. Distinguish between Interpolation and extrapolation.

vUrjx.ku ,oa ckg~;x.ku esa foHksn Li"V dhft,A

4. Discuss the Importance of Linear Programming in economic
problems solution.

vkfFkZd leL;kvksa ds lek/ku esa js[kh; izksxzkfeax ds egRo dh
foospuk dhft,A

5. Why do we have in general two lines of regression ? When
do they coincide ?

izrh;xeu js[kk,¡ lkekU;r;k nks D;ksa gksrh gSa\ os dc lEikrh
gksaxh\

6. State and Prove the addition theorem of Probability.

izkf;drk ds ;ksx izes; dk dFku dhft, rFkk bls fl¼ dhft,A

7. Find the maxima and minima value of the following function:

y = x3 – 6x2 + 9x + 100
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fuEufyf[kr iQyu ds mfPp"B vkSj fueZu"B ekuksa dks izkIr
dhft,%

y = x3 – 6x2 + 9x + 100

8. Explain the time reversal Test and Factor reversal test of a

Index Number.

,d lwpdkad ds le; mRØE;rk ijh{k.k o lk/u mRozQkE;rk

ijh{k.k dh O;k[;k dhft,A

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)

uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u
ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u
vfuok;Z gSa A

Choose correct alternative :

lgh fodYi pqfu;s %

1. Which statement is true for linear correlation coefficient ?

(a) o ≤  r 

≤

 + 1

(b) o 

≤

 r 

≤

 

∞

(c) –1 

≤

 r 

≤

 + 1

(d) –1

≤

 r 

≤

 

∞

js[kh; lglEcU/ xq.kkad ds fy, dkSu lk dFku lR; gS\

(v) o 

≤

 r 

≤

 + 1
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(c) o 

≤

 r 

≤

 

∞

(l) –1 

≤

 r 

≤

 + 1

(n) –1

≤

 r 

≤

 

∞

2. Normal curve is a .............

(a) Positively skewed curve

(b) Negatively skewed curve

(c) Symmetrical curve

(d) J-Shape curve

lkekU; oozQ gksrk gS ,d ------------

(v) /ukRed fo"kerk oozQ

(c) ½.kkRed fo"kerk oozQ

(l) lefer oozQ

(n) J-vkdkj oozQ

3. Cobb-Douglas Production function is a :

(a) Linear homogeneous production function

(b) Non-Linear Homogeneous production function

(c) Linear Non-homogeneous production function

(d) Non-linear Non-Homogeneous production function

dkWc Mxyl mRiknu iQyu ,d &

(v) jSf[kd le:i mRiknu iQyu gksrk gSA

(c) vjSf[kd le:i mRiknu iQyu gksrk gSA

(l) jSf[kd vle:i mRiknu iQyu gksrk gSA

(n) vjSf[kd vle:i mRIkknu iQyu gksrk gSA

100
x

×σ



6

4. If the value of a determinant A =  is 5, then the value

of × will be :

(a) 5 (b) 4

(c) 8 (d) 3

;fn lkjf.kd A = 73

1 ×
 = 5 gks rks × dk eku gksxk &

(v) 5 (c) 4

(l) 8 (n) 3

5. The matrix A =  
172

123

342

 is :

(a) A diagonal matrix of order 3 × 3

(b) A square matrix of order 3 × 3

(c) An Identity matrix of order 3 × 3

(d) Non-Square matrix of order 3 × 3

vkO;wg A =  
172

123

342

 ,d %&

(v) fod.kZ vkO;wg gS] 3 × 3 dksfV dk

(c) oxZ vkO;wg gS] 3 × 3 dksfV dk

(l) bdkbZ vkO;wg gS] 3 × 3 dksfV dk
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(n) voxZ vkO;wg gS] 3 × 3 dksfV dkA

6. Find the value of f (x) = 2x
x + 4– 3 at x = 3.

(a) 3.3 (b) 0.3

(c) 1.5 (d) 0.033

iQyu f (x) = 2x
x + 4– 3, dk x = 3 ij eku Kkr dhft, A

(v) 3-3 (c) 0-3

(l) 1-5 (n) 0-033

7. Given a production function 0 ,, >= βαβα KALQ , increasing

returns to scale requires that :

(a) 1=β+α (b)

0 >+βα (c)0 =β+α (d)1 >+ βα

mRiknu iQyu 

0 ,, >= βαβα KALQ

 fn;s tkus ij o`f¼eku

izfriQy dh ek¡x gS fd&

(v) 1=β+α (c)

0 >+βα

(l)

0 =β+α

(n)

1 >+ βα

8. Which of the following statisfy the time reversal test but not
factor reversal test ?

(a) Laspeyre's Index No.

(b) Marshall-Edgeworth Index No.

(c) Fisher's Index No.

(d) Pasche's Index No.
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fuEukafdr esa ls dkSu le; mRØkE;rk ijh{k.k dks larq"V djrk gS
ijUrq dkjd mRozQkE;rk ijh{k.k dks ugha \

(v) ys'kfi;js lwpdkad (c) ek'kZy&,toFk~Z lwpdkad

(l) fiQ'kj lwpdkad (n) ik'ks dk lwpdkad

9. The formula of cofficient of variation is :

(a) (b) 100
x

×
Σ
σ

(c) (d)

fopj.k xq.kkad dk lw=k gS &

(v) (c) 100
x

×
Σ
σ

(l) (n)

10. If bxy = 0.9 & byx = 0.4, then value of r will be :

(a) 0.6 (b) 0.06

(c) 0.5 (d) 0.225

;fn bxy = 0.9  rFkk byx = 0.4 gks rks r  dk eku gksxk &

(v) 0-6 (c) 0-06

(l) 0-5 (n) 0-225


